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< 2,565,858
s 10,491,767
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= 1,571,000
s 6,809,000
< 2,565,858
s 2,839,560
AT A (Y-St AL SESA) 11,113,578 22,058,786 A 10,945,208
s 6,809,000
< 2,477,858
[ia 1,826,720
aaCAE 23,020 23,072 AB2
201 Let24d] 15,020 14,072 948
01 At 22l 4,920 3,960 960
N&=ZAE HRFX 01 4aH|
8,000& 7 »602] 3,360
NS ANE NREERY 130,000& = 12& 1,560
02 =224l 10,100 10,112 A12
NXg A 22 1,500,000& 1,500
X H=dl 2,600,000 2,600
NEA 222l 500,000& »12& 6,000
202 044l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
NSZAE dRFX UL
50,000& x6H »202] 6,000
203 R =& 2,000 3,000 21,000
03 AIMF=XH S =AY 2,000 3,000 A 1,000
Neotd e 2 oatEsE g5 2,000,000& 2,000
arEANEXH 200,000 500,000 A300,000
401 AIEHI L 201 200,000 500,000 A300,000
01 A& HI 200,000 500,000 A300,000
NeEx 20 422 WESAM
200,000, 000& 200,000
SAASRNLAE (EX) 7,329,700 6,046,000 1,283,700
s 6,100,000
< 785,000
[ia 444,700
401 Al HIZ 201 8] 7,329,700 6,046,000 1,283,700
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[ 444,700
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01 A& HI 6,324,700 5,047,000 1,277,700
NEMA SRS ALY 6,324,700,000& 6,324,700
s 5,095,000
< 785,000
[ia 444,700
02 Zeltl 1,005,000 980,000 25,000
NEMA =AML ALY 228l 1,005,000,000& 1,005,000
s 1,005,000
NeL&=CSHUSAIE (BEX) 1,418,000 11,204,000 29,786,000
s 709,000
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< 300,000
03 Al 2 0HHI 6,000 11,500 25,500
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202 Od4dl 1,200 1,000 200
01 = LH 4 Hl 1,200 1,000 200
Not=ZAld 22FX UMY
50,0003 »3H 82 1,200
dotFot=E DI 2HE (HE )+ EaY 400,000 0 400,000
401 AIEHIZL 2 0] 400,000 0 400,000
01 A& Hl 398,000 0 398,000
Nalotz st=S XU JI2HE(HE) 2EHEY
398,000,000 398,000
03 AIE 2 THHI 2,000 0 2,000
AR SlaCHH JI=2HE(HE) 2B
2,000,000& 2,000
SN AsHEMSH=SZHI(BX) 457,000 252,000 205,000
= 325,000
< 28,000
= 104,000
401 AIEHIZL 20 457,000 252,000 205,000
= 325,000
= 28,000
[ia 104,000
01 A& Hl 454,000 249,917 204,083
NEZ 23XF sHENS6t=S FH
454,000,000 454,000
= 325,000
< 28,000
[ia 101,000
03 Al 2 THHI 3,000 2,083 917
NEE 83XF sHE0tE26t=5 FH
3,000,000& 3,000
EXXNENR2sHENSoI+=SHHMSE (EX) 72,000 177,000 A 105,000
= 50,000
< 4,000
s 18,000
401 AIEHIZL 2] 72,000 177,000 A 105,000
= 50,000
= 4,000
s 18,000
01 A& Bl 69,400 175,826 A 106,426
Nex NEXF sHENSot=S FH
69,400,000 69,400
= 50,000
< 4,000
s 15,400
02 Zeltl 2,000 0 2,000
Nex N7 sHENS6t=S F
2,000,000& 2,000
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Nex NEX7 sHEDS6t=5 FH
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= 41,000
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401 Al HI & 28I 59,000 177,000 A 118,000
= 41,000
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NE4 St s ENSots=E ZH ALY
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= 25,000
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s 27,000
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02 Zeltl 5,000 0 5,000
NYX 23ot+HMelAld SLEAS
5,000,000& 5,000
03 AlE 2 THHI 1,000 1,440 A 440
NYX 23ot+HMelAld SEAS
1,000, 000& 1,000
AANBBot+=Eot+=22FHHIAME (EX) 527,000 200,000 327,000
2 369,000
s 158,000
401 Al HI R 201 I 527,000 200,000 327,000
2 369,000
s 158,000
01 A& HI 516,000 198,560 317,440
1Y B226t4+E ol+=22 MU ALY
516,000,000 516,000
2 369,000
s 147,000
02 Zeltl 8,000 0 8,000
1Y 226taE ol+=22 MU ALY
8,000,000& 8,000
03 Al SR THHI 3,000 1,440 1,560
YN B2236t4+E ol+=22 HH ALY
3,000,000& 3,000
SMMXNAsHENSoH T U AIE (BX) 46,000 120,000 AT4,000
= 32,000
= 3,000
s 11,000
401 A& HIZ 201 I 46,000 120,000 AT4,000
= 32,000
= 3,000
s 11,000
01 A& HI 44,600 119,136 AT4,536
NEA A2lXIF? sHEOSSE FHIALY
44,600,000 44,600
= 32,000
< 3,000
e 9,600
02 Zeltl 1,000 0 1,000
NEA A2IXI R sHEOSSE ZHIALSY
1,000, 000& 1,000
03 Al SR THHI 400 864 AN 464
NEA AMelX 7 sHEDIS6tsE FHIALY
400,000& 400
ool ) EaMalA &S (EX) 100,000 0 100,000
= 50,000
s 50,000




AN dot=SAFE A
A MBS CAHA
Sl BT AIA (4 - ST AL S ) EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 100,000 0 100,000
= 50,000
s 50,000
01 A& HI 99,100 0 99,100
NaeH(ol ) 2= el A&ss 99, 100,000& 99,100
= 50,000
s 49,100
03 Al S THHI 900 0 900
NaoH ) 2EHelAIE=S 900,000& 900
CxsEARAsHEMSHSEUI(BX) 200,000 0 200,000
= 140,000
< 12,000
[ia 48,000
401 Al HI K 201 I 200,000 0 200,000
= 140,000
< 12,000
s 48,000
01 A& HI 199,000 0 199,000
Nexzxgl2=HE0t2ot=<F I
199,000, 000& 199,000
= 140,000
= 12,000
s 47,000
03 Al 2 THHI 1,000 0 1,000
Nexzgl7sHENSct==F
1,000, 000& 1,000
25X XN 2=sHEO0ISot=EHU(EX) 200,000 0 200,000
= 140,000
< 12,000
[ia 48,000
401 Al HI K 201 200,000 0 200,000
= 140,000
< 12,000
[ia 48,000
01 A& HI 199,000 0 199,000
NHI2&XXN2=HE0tS6t+ S F I
199,000, 000& 199,000
= 140,000
< 12,000
s 47,000
03 AIE 2 THHI 1,000 1,000
NHIZ2&XXNAsHENSSH+=SF I
1,000, 000& 1,000
aot=E 2 2te| 6,982,592 508, 145
ATl (A - St AL SESAH) 5,578,099 456,529
a2 65,040 2,280
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HH: MEacCaT e
©e A2 (4 - StS AL SESEH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
101 14 Hl 42,240 39,600 2,640
03 RIAHAZ 22+ 42,240 39,600 2,640
Nadsc2e 2 FIHHE(XNSE, Zolf)
220,000& x5H 128 13,200
N 224 I HOELI(LX E=F 2 100
2) 110,000& »22H «12& 29,040
201 £B-2d| 2,800 3,160 A 360
01 At 22/l 2,800 3,160 A 360
Nz 2e RFX 04l
8,000& 59 *403| 1,600
Nz 242 AAREE 24l 100,0009 x12& 1,200
202 o4dl 20,000 20,000 0
01 = LH o4 1l 20,000 20,000 0
Nz 42FX UL
50,000& *5% »802] 20,000
aE2d 1,934,806 1,893,369 41,437
201 LB-2dH| 860,830 881,415 AN 20,585
01 At 2t 2l 486,600 499,105 A 12,505
N 2 =ZHA 32,2003 x1300 & x128 5,024
NEJ &2 =LA 358,000 1300 A 4 & 18,616
120 5 A 33, 100& 137 A b2 22,376
N2 2 =ZZA 326,400 1300 2«12 50,919
NE2 =2 HA 21,6003 *1300 & x128 3,370
NEJ ==U388 2LIHE AAM
62,5003 x 1300 & =43 3,250
Nl =528 QMM =ZEHAM
76,7002 *500H 2 3,835
Nat=E 2 SAA L=
390,000& x1=+5H 1,950
NESSEIISAAE B4 2
70,0003 x6H *13] 420
N A4S 2 12014 2Ry
60,000 13 x113 88,140
N AxE 2 12014 =2l
60,000 13 x3652 284,700
N=2=% 4l 2¢ 2,000,000& =24 4,000
02 =24l 374,230 382,310 A 8,080
Na== Mg Jles 5,000 *1300 2128 780
N+ A3 S3atz 40,0003 13 212 6,240
N+ 29 &g
1,550,000& 1304 &+ 123 241,800
Na=E JIgd Mg
500,000 134 & +12& 78,000
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NALE2CA ERESIE £HE
100,000 130 A *13] 1,300
1)gt=24a6t4=S &3l 950,000 x13| 950
PDNEI|HE 2R S =42
100,000 x 100 A+ 12 12,000
NEH£X RoHH £4+2(XNE, L6, 55)
100,000 *3 A x 12 3,600
1)ab4C 2| A HZ2H| 20,000,000 20,000
NASE 22 AF S X228l 500,000 *1304 & 6,500
NabaE 22 A S22 1,000,000 1,000
NNASE 22 X2 AZH| 2,000,000& 2,000
a2l I MAl 60,000& 60
202 044l 20,000 28,400 A8,400
1 2L Yl 20,000 28,400 A 8,400
NASEE HAE 2E2AHASZ O]
20,000,000 20,000
206 M = dl 1,053,976 983,554 70,422
01 X2 bl 1,053,976 983,554 70,422
NN M 2L 1,500& *1,500H 2,250
NE=ZAAME A 2 42,050 «13H4 547
NaEE ASE2 Y8R 50,000,000 50,000
DAFDHH| HlASEE 22l 100, 000 130 A 1,300
NEEY FANLE +52 23
4332 x6,200= x365 979,879
NS0 2 11,000,000& 11,000
Nad:E XM, B 22 900,000 100K A&~ 9,000
N S T = 113,820 113,088 732
201 LBt 9| 113,820 113,088 732
01 AP 22| H| 20,020 20,400 A 380
NaolEE @3 20 DM 7
10,000,000& 10,000
Nea )| 2dx= 700,000& x12& 8,400
Ne=s £48)| EH JIECIX
340,000 «3& x10Y 1,020
Ne=2 27| =2l 200,000 *3& ~10H 600
02 E2=2=2%H| 93,800 92,688 1,112
NAGHESE @2 T2 S 24H|
800,000& x12& 9,600
NIIAHZMHEIA 2820 012
350,000%*12% 4,200
NAGHEE Q2 DIA T2 80,000,000 80,000
AT ALES 2 952,200 1,138, 100 A 185,900
101 2121 | 88,200 97,200 A 9,000




2N Aol AIE A
M NGaTaE B
Sol AATHR|(4 - SHETASSHE ) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
04 JI2ZtHIZ2 2 NEES 88,200 97,200 A 9,000
1) A AH| o2 36,000,000 36,000
NE L AH| o2 27,000,000 27,000
NA4T A8 LA (NG, 2o, 23)
100,000 *3IH A x7L x 12 25,200
401 AlEHIZ 201 Y| 864,000 1,040,900 A 176,900
01 Al&H| 864,000 1,040,900 A 176,900
NHUAIES IR 160,000,000 160,000
1) A EIIWH 2 AHH]
3,625,000 120l A~ x23| 87,000
NHZLSY L JIANLSS
4,000,000 2524 100,000
NALEE ANEES BEL(ES, MM, 2auAl
s) 4,000,000 2524 100,000
)F+2 2 ¥ S 23274
500,000 x60024 300,000
NASIE S22 1,500,000& *30AH 45,000
NA%E X BA8Y
2,250,000& 16l &~ *23] 72,000
EAp e e g o) 479,533 659,533 A 180,000
201 et d| 226,033 326,033 A 100,000
01 AR 2t2l ] 26,033 26,033 0
NARBASLE B 2|2 A
63,500 344 A +43] 8,636
NARDASLE HL HZEZHAL
326,400 x34 A x13] 11,098
NARDASLE 24 BEI| AL
30,700 «34 0l A~ %23 2,088
NARRAAE #4 HEAA
247 ;700 170 A % 13| 4,211
02 222%4| 200,000 300,000 A 100,000
NARDASXE S22 =2
200,000,000& 200,000
206 M = dl 33,500 33,500 0
01 X2 bl 33,500 33,500 0
NARRAAE ASUHE 2Y(XHY)
150, 000 #3404 A 5,100
NARRA+E HYLEH 7
;184,600 x 1300 A 28,400
308 ANXICSHHMSOIA 120,000 200,000 A 80,000
11 B 2SHUSHEANE AIS Y 120,000 200,000 A 80,000
NECIT ARSH4E RX2el ASS42
120,000,000 = 14! 120,000
401 A& H|IZ 2 0HY| 100,000 100,000 0




A dot=Z A A
HE: MataCaEe
©e A2 (4 - StS AL SESEH) (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 100,000 100,000 0
NARZASE SS=2 100,000,000 * 14! 100,000
ol =S =32 272,700 734,720 A 462,020
201 LBt 142,700 134,720 7,980
02 =224l 142,700 134,720 7,980
Nil==+=3tAE dIle=a
5,000,000 2104 2 105,000
NARASASE ®II2Z 2,900,000 *130H & 37,700
401 AIEHIZ 28I 130,000 600,000 A 470,000
01 A& Hl 130,000 600,000 A 470,000
Nol==2=3tAl8 2wl 10,000,000 *13IH & 130,000
SAAMRINLALS XA 1,760,000 520,000 1,240,000
401 Al I 28I 1,760,000 520,000 1,240,000
01 A& HI 1,760,000 520,000 1,240,000
N+ JdotdEH 22,000,000 *40H 2 88,000
NALAS-E 52 HY ALY
100,000, 000& 14! 100,000
N MESE Ax22 014
200,000,000 » 14 200,000
Na=d B (MeH)7Y EXNOL
500,000,000 » 14! 500,000
Nl 3 &4+ Foraz 4
120,000, 000& 14! 120,000
Na+=ABS2Y EXN0EAMNEEAN2E =H
SsM 22,000,000& » 14 22,000
NS EME AL 48X
630,000,000 » 14! 630,000
NEN BENLE BHLAL &3
100,000, 000& * 14! 100,000
Sta=T &2 (4 - St AL EESIH) 1,070,613 940,081 130,532
ot 2el 47,520 46,450 1,070
101 @124 dl 16,500 6,000 10,500
03 RIAHAZ 2B+ 16,500 6,000 10,500
Not=ZAldsz2el 222 Ut
16,500, 000& 16,500
201 L2l 1,680 3,000 21,320
01 At 22/l 1,680 3,000 A 1,320
ot 2el GRFX AL
8,000& x 1 +603] 480
ot 2el MRES 724l 100,0009 «128 1,200
202 oddl 29,340 37,450 A8,110
01 = LH &4 1l 13,500 24,250 A 10,750




SA: ABIAZAIYA
HH: MEacCaT e
©e: St el (4 - St AL SES ) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Not=Z2el RFE UL
50,000 x1H %1202 6,000
Not=3LMeld ZW0oidl 50,0002 x6Y x253] 7,500
02 FHOHI 15,840 13,200 2,640
Not=xMel & 22l HAYI
220,000 x6H «12& 15,840
St=ZZ el Z2tel 1,023,093 893,631 129,462
101 14l 4,160 4,160 0
4 D12t ZE2EXNEES 4,160 4,160 0
NES3ot=HMelAlE AIEE JH LAAEQR
& 130,000 *4H A #23| x4 4,160
201 LBt 833,173 727,031 106, 142
01 At 22l 310,336 310,056 280
Not=3LHeld 228 UM 2¢
23,0003 *4B 40 2«12 4,416
ot IS A BFH| 200,000& 16X 3,200
Na3ot=HMeAE 28 88 2
400,000& =404 2 1,600
Ne+£dX e =2 70,000,000& 70,000
NYX, ol =2MS FXNES =8
42,600,000 *20H 2 85,200
YR, ol TS BSZA =22 S(HIAME
) 10,000, 000& *20H 2 13 20,000
NXS, 2ol QXS4 LAY
60,0003 *»4H «113 27,120
NXS, 2ol X, E4 =2
60,0003 *4H «3652 87,600
NS3ot=HMelAld 22l SAHE ISt
300,000& x16Y *23| 9,600
NZBo+HUE F7E 7Y
400,000& =44 2~ 1,600
02 8322l 522,837 416,975 105,862
Not=sLHelz HMAM3L3
100,000 41 2+ 123 4,800
Dot Held &I A88  192,800,0009 192,800
NEAHABZE KT M8 3z
199,000& 144 128 33,432
NEEXH MA 50,0003 =3CH 150
Dot LMl glagdd A=l
1,340 52| B4 *30H &30 603
Not=ZSLHAE J=X S (B HALE
54,027,600 *20H A~ 108,056
Nalot=5t~22 ISR (HEALE)
148,921,300 100 £ 148,922
NS A=Y 1,400 x652| B x 123 «3CH 3,276
N&IAL A2 X B4l 1,000,000 44 & 4,000
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NENY AL 1,000,000 *3CH 3,000
Not=3LMeld L B E MI|ord e
CHEEHI (50 A) 50,0003 x50 2« 128 21,000
N3 HINZAB(XNE i+ IH)
70,0003 =100 2 70
Not=S LM AE XS EIEH I AM
bl = 500,000 *4H & 2,000
Not=MMNI| S22A =2
182,000 »40H & 728
206 M= Hl 40,760 47,440 A 6,680
01 MHZ 4l 40,760 47,440 A 6,680
Net+ZLHAY AEa A% 2Y
30,0002 «10E 44 2«10 12,000
Not+SLHRY +E22 AE Y
125,000& x3Z «4f A« 10& 15,000
Not=SLHeld 48 JIUM 2
10,000 x12B «4f A+ 128 5,760
N=ZAAE WY 2 2,000& +1,000H 2,000
NYHS2 BAEY B2 2L (A=,
X, &4 1,500,000 *4H A~ 6,000
401 AIEHI L 2 0] 145,000 115,000 30,000
01 A& Hl 145,000 115,000 30,000
Not=Z LMl AIE(4HL) 22
100,000, 000& * 14 100,000
Not=32LMlE FLEH(NE, L X, E4H)
15,000,000& «37H £~ 45,000
OlSots=S (4 - ot A SE3AH) 333,880 412,796 AT78,916
OtSdt== 22l 35,440 31,240 4,200
101 @14l 9,600 4,800 4,800
03 RIAHAZ2THE = 9,600 4,800 4,800
1otSot== Alds2el 32E IUoitl
50,000& »2H 96 2 9,600
201 L2l 3,840 4,440 A 600
01 At 22l 3,840 4,440 A 600
NotSot== LR FZX 04|
8,000& 2% x502] 800
1otSot== AIREE 24l 100,0008 x12& 1,200
NOSst+=E 2g2el i usyl
320,000& »2H 640
NOtSst=HMel A4 222l T=t
300,000& x2& +23| 1,200
202 04l 22,000 22,000 0
01 = LH 4 Hi 22,000 22,000 0




AN dot=SAFE A
Ha: MotaTaT B
¢l DISots+S (& - St AIESE3A) (Sl & &)
= _ — d =
SN P SA(EN) - MBAY - BES e HlDE2
1otsScot==2el YRFA UL
50,0003 *2H 1303 13,000
Neaxdald I 50,000& »2H 902 9,000
OtSot=HelAl & 2el 298,440 381,556 A 83,116
101 @124 dl 15,840 15,840 0
4 JIZtHZ22HEE =+ 15,840 15,840 0
NOtSot=HMelAlE A28 LAY
110,000 *2H »36 4 A 23] 15,840
201 Let24E] 182,600 225,716 AN43,116
01 At 22l 1,800 1,800 0
NotSdt=HMelAldE A28 UMM #
50,000 *36H 2~ 1,800
02 =224l 180,800 223,916 A43,116
NotSot=HMelAld dIl 23
370,000 *36H 2«12 159,840
1)0IS6t=HMelAlE Jlsd eyl (Sar22l)
10,560,000 *1J4 & 10,560
1et=2 46t 838l (H13])
1,900, 000& *13l 1,900
nNAsE =Ll 5,000,000& 5,000
NaENE A=l 2,500,000& 2,500
Nasig 2t 1,000, 0003 = 1CH 1,000
401 AIEHI L 2 CHYI 100,000 140,000 240,000
01 A& HI 100,000 140,000 A 40,000
1)0tSot=HMelAl & (3601 4) |AI2e
100,000, 000& 14! 100,000
==Xl 376,896 395,999 A 19,103
DISot+S (& - st AIE S35 H) 376,896 395,999 A 19,103
shaazel 137,762 175,662 A 37,900
101 @144 dl 1,500 1,500 0
04 JIZHHZ2XREES 1,500 1,500 0
1Al JI2HMI2 2 LAIAIE IR A (F4)
100,000 *5IH A x3H 1 1,500
201 LBH2EH| 86,262 104,162 A 17,900
01 At 22l 19,800 22,100 A 2,300
NEL2E ISk AN =2
50,0003 +3CH +23] 300
NEES A48 X2
3,000,000& *43| 12,000
NHES 2aaHas %'ifg(é&)
2,000,000 =34 2 6,000
NEESE EaaNXE UXNZ (EAH)
500,000 =34 2 1,500
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2N Aol AIE A
HM: 2 Hel
G OISol=Z (A - Sl A EE S AH) (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 66,462 82,062 A 15,600
NEL2EXE StHINEEE2
100, 000& 23| *3CH 600
NAIIZLH B2 163,000 13| »1CH 163
NELREHNE SEUH(ESR)
1,340 x350L+3CH 12& 16,884
N2 S82
250,000 43| x3CH 12 36,000
NELREHXE S22 10,000,000& 10,000
Nebxeld He ASH|(E4H)
5652 *8A| 2t*x95 L 430
NELSUHY 28 2 L2lH(S4)
2,000,000& 2,000
NEex2ex2 NSIHA(Z4H) 300,000 <104 300
NECSUIY SBLHLRLS(SN)
50,000 = 1CH 50
NEL2EY ZIBAR(SH)
35,000 «1CH 35
301 et A =2 50,000 70,000 A 20,000
12 J|IEtE2 A= 50,000 70,000 A 20,000
Nekh =828 & Hel=x=2 X2
50,000,000 50,000
S M2l AlE2e 114,700 124,170 N9,470
201 LBt ]| 24,000 28,000 A 4,000
01 AP 22| H| 20,000 24,000 A 4,000
NESEHE SHA fE X
2,500,000& «83| 20,000
02 2224 H| 4,000 4,000 0
NESdelAld SA2e 4.000,000& * 1Al 4,000
206 M = dl 18,600 22,070 N 3,470
01 X2 8| 18,600 22,070 N 3,470
NE=H2IY +222 A2 3Y
,600,000& x5 18,000
NAIE222 X332 H=A 150,000& *23| 300
NDAIES22 BHolE2HH ASUHE 300,000& 300
207 A0 | 2,100 2,100 0
03 A& A 32| 2,100 2,100 0
Nalgal Y S L 24 400,000 *23| 800
NE:4 HXEI 2 2 500,000& 1 NIl E 500
Nalsal Al 22 80,000& * 10K E 800
401 A& HI L E0HHI 70,000 40,000 30,000
01 Al& H| 70,000 40,000 30,000
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AN dot=SAFE A
HH: HHSHAL (M LETAYL)
Sl Q2 (4 - ST AL SHEE) EERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
A2HHI(Y - St AFLSSE3IAH) 71,819 72,383 A 564
ol 2AY| 71,819 72,383 A 564
101 @124l 71,819 72,383 A 564
01 2= 71,819 72,383 A 564
NAIZt224+2(63)
12,0023 x5 +25A| 2t+ 128 18,003
NAIZ224+2(73)
10,8413 x8H +25A| 2t+ 128 26,019
NAIZt 22442 (83)
9,7333 x5 «25A| 2tx 12 14,600
NAIZ2242(93)
8,798 x5 «25A| 2tx 128 13,197
Jl23dl (& - st ASSE3) 20,900 22,400 A 1,500
JlE2&l 20,900 22,400 A 1,500
101 @124l 800 800 0
03 RIAHAZZ2THE = 800 800 0
N33R LR 20l 50,0002 2 *83 800
201 Let249H] 3,600 5,000 A 1,400
01 At 22l 3,600 5,000 A 1,400
NEASY AIR220dl 100,000 =18 *23l 3,600
202 oddl 9,600 10,000 A 400
01 = LH o4 1l 9,600 10,000 A 400
NEN2E O 50,000 24X 83| 9,600
203 YR =2t 6,900 6,600 300
02 It = &H| 1,560 1,440 120
1)1002!1 0l ot 40,000& *39H 1,560
04 FN2ELRZTH| 5,340 5,160 180
1)300! 0l ot 400,000& x12& 4,800
1)3021 0] & 5,000& x9H x 128 540
Gl (Mot+==SE 3 H) 200,000 0 200,000
Ollbl (& - St=SAIESE3I) 200,000 0 200,000
ololdl(&atot==S2E3 H) 200,000 0 200,000
801 GilBI8l 200,000 0 200,000
BURERES 200,000 0 200,000
1ol & &l o AR2E (= 0fl &) 200,000, 000& 200,000




